2000 £ 12 AEB G ER-FHER

=1l E 4 B T a5t

K 8,309 10,598 18,907

HEST 5,469 6,553 12,022

iR

LEF Y| 139 71 210

INET 5,608 6,624 12,232

HAEK 2,039 925 2,964

HEST 992 546 1,538

HEE

B4 176 56 232

INat 1,168 602 1,770

ARSI 7 7 14

HEST 1 2 3

LEF Y| 1 2 3

INET 2 4 6

A 6 8 14

HEST 0 1 1

LEFY| 1 1 2

NEE 1 2 3

HAEK 10 10 20

HEEFT 5 3 8

FAIESFRE

FH 0 1 1

INat 5 4 9

PRI AR AEE 2 1 3
HEST 1 1 2




L3 0 0 0
INEF 1 1 2
RS 9 11 20
- HEEE 5 2 7
(R®) LEFY| 3 4 7
INEE 8 6 14
A 0 1 1
HEEFT 0 0 0
ED I%%
LEFY| 0 1 1
NEE 0 1 1
HAEK 1 0 1
HEHT 0 0 0
EKRAE
L3 0 0 0
INat 0 0 0
RS 1 1 2
HEST 0 0 0
BReE
LEFY| 0 1 1
Nt 0 1 1
A 1 0 1
HEHT 1 0 1
BiE
LEF | 0 0 0
NEE 1 0 1
[ ey -8 10,385 11,562 21,947
st
HEST 6,474 7,108 13,582




320

137

457

6,794

7,245

14,039

BEREFHEE2000F1 A5 H




